cafe.naver.com/realcom?

2| €A 02-3424-7811

HFE, 24E, FHEA, HOHEH, PCHE o NAVER

5
— ' |2 OLE 75 A-034
LS Rez] -
e PAELAY @ 7R TR E (39678 37hA) 672-10-00779
° (PCTYF vlelH7Ha] 7FYA] 133F 5 £1x
[ . X|a
GELEE AAAU7H5) glgdd zma 5,‘3—,
KEA 284 %"é;&a&é‘
o ° 11> ° 5 17_ A_ 4§
ARAA: 20230 19 159 URY |dEAA R -
AllY AZEYQ
Fa
ZHaH T 4 2 9 T&= ot | = A
AMD 2t0|5I7-4M|CH 5800X3D (HO]0f) (BE) CPU 484,000 1 #484,000
1. 2PC 7 ¥ 14 0|3t RHLZ A/SE AlAS}
0 11 0|S0f BHMBHE £2|H[= BEH O DA K darkFlash Twister DX-360 V2.6 ARGB (2 2) CPUEH #115,000 1 #115,000
2 H=de YHEFLCH
ASUS TUF Gaming B550-PRO CH-&IM E|0f| A M/B #216,000 1 %216,000
2. A/SE DM EHES JE 2 Lt
N £ Xt DDR5-4800 (32GB) RAM #135,000 2 #270,000
3. D20l ALBOISOZ QI3 Htol2|A 2 U s/w
AL AR, 221 S0 A% A/SE SN TR RTX 2000 % F X D6X 24GB E2F0]
A A/S 7IE0] QB0 TARE T 20| E B4 2R3 VGA  [%3,030000 | 1 #3,030,000
REU, =
/ 0]
4. HDDO|| MZtEl DATAE HEE|X| (&L &0t TETS IR . B -
DATAL &4t BACKUPSH E2A|7| HHEfLICH siesters = P“‘?S%?Q)P“ M2 NV ssb #375,000 1 %375,000
5. DA 2 S/W BHE Q7 SHAlE A ME HDD #0
A 2ol NS
d =e 8o X5 BRAVOTEC GUARDIAN 3100M V2 EO[EF 22~
oy CASE #98,000 1 #98,000
6. TYURE HE SWE AR & 0|0, 2¥N o= == :
2R E /W 7t TEE|X| gee é!'ﬂé_l'm, o|Z oz} FSP HYDRO PTM PRO 1200W Platinum ATX 3.0 POWER 370,000 1 W370.000
£ 20I0] ALgSH= AIAELO| 25 2Y =X s/W (PCIES) : :
of T3t of et Z0l2tE Q/HALY K|S MY Ao~y WO
TS 2Ol USS Tl
T U MY S| #80,000 1 #80,000
A= MEHOHS! (O] HX]) A= 2(0S) #0
golg w0
5,038,000 1
“E O = SU IS Y 22t 3oz 7Y BH A SHA VATHEE
g 2Z2f 7% W20l ofLI2t 2m AlMof ¥ A #5,038,000 )
A Gl 7to| A Fn7t ot FE 7HH0l 3 > = o = C PNET
2 O3 AYLICH WA A o2 BOjE S Zo[L Tt 23 T& CHot =2l
oot ROf SN = Lt WO
café.naver.com/realcom7 0|7} w0
1. 7|7t 2 S =M oF | AKX 20|
7tsgtLct WO
2. TURI|E HEAFAN L. WO
Ao =2 X ALREE X|Hl #0
Zol= O|HIES FISHBEL|Ck )
X &IIAZE Ao SEEA =HEO0| =2L w0
MElE M 2!
MG EM R 0
It A ME§ AL ) VATEZ
I AN T 2 FALSE oA 5,038,000 VATHE
FlieZdAe SH FALSE HILM| #503,800
7 =™H2 ML (oM % HSHEFF VATEY
N 7tH =H2 #41,800
E Z4n i 3 w0
X 12ol #5,500,000  [VATZZS
X M A MA HEAZL
et (o33 x|z

110-482-539938

=

2|

B




